Losungen zum Arbeitsblatt (April 2015)

1. Aufgabe:
38% 62%
E A
55% 45% 48% 52%
W
w m m

w(w) = 0,38 - 0,55 + 0,62 - 0,48 = 0,5066

2. Aufgabe:

51,1% 48,9 %

42,4% 57,6% 55,3% 44,7%

w(nE)=0,511 0,576 + 0,489 - 0,447 = 0,512919

3. Aufgabe:
30% 70%
9a 9b
90% 10% 57% 43%
w
w m m

a) p(m)=0,30 - 0,10 +0,70 - 0,43 = 0,331 = 33,1%

4. Aufgabe:
1/5 4/5
N T
1/8 7/8
N T
a) 100-0,8=80 b) 80-0,125= 10 ) 80-10=70 d) 0,8 0,875 =0,7 (= 70% = 7/10)

Zehn Aufgaben mit Losungen: http://brinkmann-du.de/mathe/aufgabenportal/p9 stoch 01/p9 stoch 01.htm



